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QUESTION 1

Which three options are true about NSX logical bridges? (Choose three.) 

A. A logical bridge configured for HA uses a 15 second heartbeat by default to detect failure. 

B. A logical bridge configured for HA uses (BFD) Bi-Directional Forwarding to detect a failure in a minimum of one
second. 

C. A logical bridge on the DLR supports VXLAN to VLAN bridging. 

D. A logical bridge forwards traffic through the control VM. 

E. A logical bridge forwards traffic through the hypervisor. 

Correct Answer: ACE 

 

QUESTION 2

Which virtual machine does VMware recommend be manually excluded from the Distributed Firewall? 

A. NSX Manager 

B. Microsoft SQL Server 

C. vRealize Automation Appliance 

D. vCenter Server 

Correct Answer: D 

 

QUESTION 3

What are two benefits of the NSX Distributed Firewall? (Choose two.) 

A. VMs are protected even as they are vMotioned. 

B. Each VM is individually protected by a L2-L4 stateful firewall. 

C. ESXi hosts are automatically protected by a distributed firewall. 

D. VXLANs are automatically protected by the Transport Zone definition. 

Correct Answer: AB 

 

QUESTION 4

In which VMware NSX use case would VXLAN NOT be required? 
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A. L2 Bridging physical to virtual 

B. NSX micro-segmentation 

C. Active/Active Datacenter 

D. Distributed Logical Routing 

Correct Answer: B 

 

QUESTION 5

When creating a new security policy how is the default weight determined? 

A. The default weight is equal to the highest defined weight minus 1000. 

B. The default weight is equal to the highest defined weight plus 1000. 

C. The default weight is equal to the highest defined weight. 

D. The default weight is incremented by 100, starting at 0. 

Correct Answer: B 

 

QUESTION 6

Which two networking and security components are contained in the backup configuration data of an NSX Manager
backup file? (Choose two.) 

A. vSphere Distributed Switch 

B. Resource Pools 

C. Edge Services Gateway 

D. Grouping Objects 

Correct Answer: CD 

 

QUESTION 7

Which are two uses of the NSX DLR protocol address? (Choose two.) 

A. When configuring BGP the protocol address is used to forward traffic to peers. 

B. When configuring BGP the protocol address is used by the protocol to form adjacencies with peers. 

C. When configuring OSPF the protocol address is used to forward traffic to peers. 

D. When configuring OSPF the protocol address is used by the protocol to form adjacencies with peers. 
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Correct Answer: BD 

 

QUESTION 8

What resource must a partner security service be registered with before the service is available to a security policy? 

A. NSX Manager 

B. ESXi host 

C. Service Composer 

D. vCenter Server 

Correct Answer: A 

 

QUESTION 9

The user at 192.168.150.10 can reach the physical router but CANNOT reach edge-2 or any virtual machines. 

What routing change would resolve the issue? 

A. Enable Default Originate on edge-2 for OSPF. 

B. Configure static routes on the physical router. 

C. Enable route redistribution on edge-2 between both routing protocols. 
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D. Enable Default Originate on edge-2 for BGP. 

Correct Answer: D 

 

QUESTION 10

An administrator is deploying NSX in a Cross-vCenter configuration across three data centers located 100 miles apart
Datacenter-1 and Datacenter-3 already have NSX deployed locally and Datacenter-2 does not have NSX deployed yet.
What is the correct order of steps to configure all three data centers for this solution? 

A. 1. Remove the NSX manager from Datacenter-1 and Datacenter-3. 

2.

 Reinstall all three NSX managers at the same time. 

3.

 Deploy a universal transport zone. 

4.

 Deploy a universal distributed logical router. 

B. 1. Deploy an NSX manager at Dataenter-2. 

2.

 Change the roles of the NSX managers in Datacentar-1 and Datacenter-3 to Transit Mode. 

3.

 Deploy a universal transport zone. 

4.

 Configure the Primary and Secondary roles on all three NSX managers. 

C. 1. Deploy an NSX manager in Datacenter 2. 

2.

 Update the NSX manager role in Datacenter-1 to Primary. 

3.

 Update the roles in Datacenter-2 and Datacentar-3 to Secondary. 

4.

 Deploy a universal transport zone. 

D. 1. Deploy the NSX manager at Datacenter-2. 

2.
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 Update the NSX manager role in Datacenter-1 to Primary. 

3.

 Deploy a universal transport zone. 

4.

 Deploy a universal distributed logical router. 

Correct Answer: C 

 

QUESTION 11

When configuring BGP routing in NSX, what is the purpose of the Graceful Restart check box? 

A. Automatically restart the peer router when BGP session is established. 

B. Allow packet forwarding to be uninterrupted during restart of BGP services. 

C. Automatically restart the local router when BGP session is established. 

D. Allow packet forwarding to be paused during restart of BGP services. 

Correct Answer: B 

 

QUESTION 12

Which load balancing algorithm is only available on a vSphere Distributed Switch? 

A. Route Based on Source MAC Hash 

B. Route Based on Originating Virtual Port 

C. Route Based on IP Hash 

D. Route Based on Physical NIC Load 

Correct Answer: D 

 

QUESTION 13

In a Cross-vCenter NSX deployment, what are two requirements that must be met in order for an administrator to deploy
both universal logical switches and local logical switches within the same vCenter instance? (Choose two.) 

A. A universal distributed logical router must be created. 

B. A local distributed logical router must be created. 

C. A universal transport zone must be created. 
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D. A local transport zone must be created. 

Correct Answer: CD 

 

QUESTION 14

Which type of VPN should be configured to ensure application mobility between data centers? 

A. Application VPN 

B. L2VPN 

C. IPSec VPN 

D. SSL VPN-Plus 

Correct Answer: B 

 

QUESTION 15

Which vSphere network object abstracts the physical network, provides access-level switching in the hypervisor and
enables support for overlay networking? 

A. Standard Switch 

B. Distributed Port Group 

C. Distributed Switch 

D. Logical Switch 

Correct Answer: C 
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